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@ A spring bounces up and down. Its height above the tabletop in terms of time can be represented
by the following graph

A femy

write an equation that will represent this using
cosine function.
@g&@the equation to find the height at 23sec.

@}g_s_gthe equation to find one time when the
height is 9cm.

@- Fory = 3cos(4x + 360°) — 2 find the following.

a. amplitude

b. max and min values
c. phase shift

d. wvertical displacement
e. period
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3, A bicycle tire with a diameter of 80cm and that rotates once every 2 sec. &;S‘\"’Nl
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(LDDe[ermine whether the term periodic can be used to describe the graph

for each situation. If so, state the period, equation of the axis, and amplitude.

a) the average number of b) the motion of a piston onan ¢} a student is moving a metre stick
hours of daylight over a automated assembly line back and forth with progressively
three-year period larger movements
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@ Find aggadion 4Ny it | pololg
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O While riding on a Ferris wheel, Trevor’s height above the ground in terms of
time can be represented by the graph shown.

Trevor's Height above the Ground

Height above
ground (m)
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a) Whart is the period of this function, and what does it represent’
b) “What is the equation of the axis? )
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Each person’s blood pressure is different. But there is a range of blood

pressure values that is considered healthy. For a person at rest, the function

P(r) = —20 cos(3007)° + 100 models the blood pressure, P(z), in

millimetres of mercury at time 7 seconds.

a) What is the period of the function? What does the period represent for
an individual?

b) What is the range of the function? Explain the meaning of the range in
terms of a person’s blood pressure.
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@The diameter of a cars tire is 60 cm. While the car is being driven, the tire picks

up a nail.
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